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www.math-wiki.com 9NN N8 ONPN qT @
0PN DY NN NNYN T2 DINYD YOI »ToN 9mIND yana MONY e
.20 Y9)IND NVIN NN MY e

DITIP DNIN 2DYN DY 1IPPYA DOIAN ,MMPN NNIN qGONI N ¥YP2 NN @
NPYONNND NVYAI NI2ION) AVNNN PYTND D»IAONX 0N OONPI

L TNON Oy NAYN D30 Nnv) e

W52 N ININD DN )ON AR Yywn ©TeON Niva 032NN
NPOY TYON) D150 2IN0Y ,ININD 9N ywn ©TinoN Mva 013nn

0990177 HNINY Nan 1

107901 DV MNP NND 19D

oryaon oaonn N={1,2,3,...}

(Zahlen :1;m ) omdvn oMaonn Z = {0, +1,+2,+3,...}

079NN oMvonn Q = {§ :pE€ZL,q€Z\ {O}}

.O»vnNnn 01950nn R

.0A0N o9onn C
NcCcZcQcRcCorpmm

Tk € Z ©7p OR b DR PN @ D IMNY .DMOVY DMI9DN a,b v 1.1 DN
.—5[10 SonY .alb yaoNn ka = b-v

DN ¢, 7 YD d #£ 0,1 € Z 97 (PO NPIDN IR 71PN VAVYN) 1.2 VOUD
O<r<|donn=qd+rv 3>

MNva NPNaAN .d-2 n DR DPONN AWRD NP " RN Yo LavNN
{INY) remainder-1 (M) quotient ”yon NYN VAYHNI OIVNIN
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reatest ,9”101) YIVON GMVHD PINDN 1, M DXNOY D900 1Y 1MHNA 1.3 9710
g )
999NN NPNY TN DNYY (common divisor

ged(n,m) = max {d € N:d|n Adm}

(n,m) =1 o W% n,m » MNI .(6,10) = 2 Svnd .(n,m) PI IV DY
.0 0N 5-) 2 Swnd

b= a DY HOINRYY 9N 9 PONn d N Ld|b B0 d|a DX 1.4 YD
(n,m) = (m,r) '™ n = qgm+r ON .1.5 WYV

D91 NN .d|m BN d|n D YT DN .d = (m, ) 229" ,d = (n,m) D) .DNW
A < (myr) 9op oM Jdlr =n — gm 99 0, m OV IRYY MPND T NN P8I
SV INYY NPY NI 1D (m,r)|n P9 (m,r)|m o3 (m,r)|r DTN 290 nyd
D MOVP YO0 T (m, 1) < d R (m,r)n O (m,7)|m D WP DN am, T
O A= (m,r)

THYOI AN YIDW HNY3 'Y ARSDT "R L(DTOPIN DIINON) 1.6 VOUY
(n,m) =nk m=00% .0 <m<nnmm? M DTIPIR DIMVIR R 1Y
W3 (n,m) = (m,r) Y YN 0 < 7 < m WRD n = gm + 7 3D MINK

(ABYD? 3IMN BIMMIIRD D2

DTOPIN OIPIMOR NNY2A 47-1 53 OV n”nnn DR 2vN) 1.7 DY

(53,47) = [53 = 1 - 47 + 6]
(47,6) = [AT =76+ 5]
(6,5) =1

O OPNRY 990D MAY NAON ANNT

(224,63) = [224 = 3 - 63 + 35]
(63,35) = [63 = 1 - 35 + 28]
(35,28) = [35 = 1 - 28 + 7]

(28,7) = [28:4-7+0]
0) =

(7,

M @, b BV BMODY 707 BIYPNRD LOAYND INYD NN n"nnn 1ON) 1.8 VOVY
(a,b) = min {au+bv € N:u,v € Z}

a,b) = sa +tb-v 3 5,1 € Z »YHMY 0103



2730 ARYD PPXD NNNN NN OWIANYI S, DNTPNN NN NINND >TD 1.9 NNt
22NN DTIYPIR BIMWNIRID VNN

(234,61) = [234=3-61+51 = 51 = 234 — 3 - 61]
(61,51) = [s1=151410 = 10 = 61 — 1-51 =61 — 1- (234 — 3-61) = —1- 234 + 4 - 61]
(51,10) = [s1=51041 = 1 =51 — 5-10 =51 — 5 (—1-234 + 4-61) = 6 - 234 — 23 61]
(10,1) = 1

(234,61) =1=06-234 —23-61 o9
.alc 22 WM Lalbe O (a,b) = 1-v 75 DOV OI9UN a, b, ¢ PV .1.10 99N

c-2 9°92) .1 = sa + th-v T2 s,t DMNIOP PINYY NPND NNINN PON 299 WINO
93 Lal (sac + the) 135 .altbe ©Y 2NN 29D alsac 2D M2 ¢ = sac+ the HApN
.alc

20010 5 MNON .1.11 HYY
eld 7N eln o0 elm-v 75 e o d = (n,m) > .1
(an,am) = |a| (n,m) .2
p|b W pla nN ,plab DN MWK p DX .3

PONN NI N e|n, m-v P .d = sn+tm-v T s, t P .1 JDDHD DN
.d XN sn A4 tm DNOY INYD MY NN D)

(.7an 5 pon) .2

PIVN DR 990 .sa+tp = 1-v T s, t 0P 129 (p,a) = 1 X ,pta ON .3

,(plab »N) HNNY PR NN PONN p 2D NI sab+ tpb = b 92PN b-2 PINKD
plb MY P PN NN PO p oM

]

least ,2”2) HMPIDD ROMVOD DNOIN 12, M DNOVW DIADN NV 1MNA .1.12 NN
nYno NN 0NV (common multiple

lem(n,m) = min {d € N : n|d A m|d}
.[2,5] = 10-1 [6,10] = 30 5wn> .[n,m]| P71 O DY
1”15 SV MDD .1.13 WYV

n,m] |a ™ nja ©N m|a OX .1



[6,4](6,4) =12-2=24 =64 5vn> .[n,m|(n,m) = |nm| .2

0 <r < [nm]awnd a=qgnml+r-v I q¢r v .1  JINVDH NN
wr # 0 0OR n,mlr o0 yan n,m|[n,m] DITN 299 n,mla 2 PRIN
[n,m]|a M9 ,a = q[n,m] 35 [n,m] Sv nYOYYNRS NPND

No9oND 190N DY PN NIYa N"NOM NNNN VNS NP TIT AR .2
NN PYVON 0D M) LDPNUNT D)

n| =[] =l Iml =] P = pipseps?

TIAN NYS (MO 199NN D DON NN VYN OM) ;G > 0 IWNRD
) YIONVNY

o0

[e.o]
— sz’n]n(auﬁl) H Hld.X 0‘1761
=1

W, + = min(a, f) + max(a, 8) 07PN @, f D900 MY D35V )90
[n,m] (n,m) = |nm)|

]
Sv NN d o .DM90N NN INYD NN PTIND IWON L(MaY) 1.14 AYRVY
$1M1 + DMPPNN Sq, ..., S, DMOY DI90N DIYPY ININ N, ..., N, DIONN

KOy oSpIIN ) 4 spn = d

nla—b OR N AN DNPY 0N a,b € Z >D N YAV 190N 1 0 L1.15 N1
a” Nt RPN a = b (mod n) Nt O YOI .a = b+ kn-v 70 k € Z 0»p >
Jn oymn b-5 Dipv

MV PDOPLST) MPPY DN NN 1 INTIN MPPY (12D NNOIN) 1.16 YHYV
,a =b,c=d (mod n) OX MY 20N OITINI 7 INTIV NM YA (VIO
a+c=b+d (mod n) on ac = bd (mod n) N

Ly, = Z/nZ = Y205 52PN 17 T MPPYN MPONN GOIN NN .1.17 WM IS
MY PYN NPSNN NN 0o omyad Zy = {[0], [1],[2], [3]} dvno {la] : a € Z}
. VIV NI WPNN UKD DY G WPD1 [a]

1333333 S NNINNN NY90N NN INYD .1.18 9990

215 vy N (mod 10) 20 N 7901 S¥ NNINKRD NI9DN ,7PNIVYN MW NN
oY 333333 = 3333 . 111333 »5

111=1 (mod 10) = 111** =1%* =1 (mod 10)
3333 — 3+ — (31 .3 - 81%.3=1%.3 (mod 10)
333% =3 . 111 =3 (mod 10)

3 NN NININND NIDNY NI



bl =1 (mod 234)-v 75 0 < z € Z Wy (0t v ON) 1.19 59590

MINYD PN NN 1 N 6la + 234k = 1-v 0 k€ Z ©»p PN 280 WO
M9 .(234,61) = 122 13520p NN WK 29Y .234-1 61 SV (Mt NIPN1A O1N)
29N 290 DY) INYD NP NNNN PN DY VAVNN Y ONTPNN ON kT
DOV PR T 0D NPVIANY T x = —23 (mod 234) 95 .1 =6-234—23-61 oTp

=211 N

W N 2 OY @, b € Z 97 RPN 1, m DR LOPDN NPINYD 0VN) 1.20 VOVY
3 2 =0 (mod m) & = a (mod n)-v I nm AN MPPY D

13 .sn+tm = 1-v 13 5,1 € Z on»p AN ,(n,m) = 1-v 2910 AR R DN
07PN .bsn + atm-2 INAN) VOVYNI WD T OV DYP NOIND

bsn+atm=atm=a-1=a (mod n)
bsn+atm=bsn=0-1=b (mod m)

NN k€ Z 939 2 = x4+ kmn D33 M2 SIWON NINS NN = = bsn + atm 199
PN PINg
] AN 9N NN nm INTID T OV MTN NNOIN

DT =2 (mod 5) on z = 1 (mod 3)-v 70 & € Z N¥0) .1.21 At
Ss=—Lt=2n=5m=3mnpna .—1-5+2-3=1199,05,3)=1
OPPIM PR .z =1 (=5)+2-6 =7 N MIN2AY AN *PDN NPIRYN LIVN 299
7 =2 (mod 5) on7=1 (mod 3)

oV MNNIYND NOIYND DY N0 MN 200D INY NI 20N NPIRYA VAYN
AT MYPY

NN DND BIYIV DNODY N3P {1y, ..., My} RON (0T v ON) 1.22 VOUD
MY D3P YNNI .1M=3 D79V IR 1D (N KID DH3PI TODY M 7D D)
ANDOD M ANz DN WY WYY {a; (modm;) 1 1 < i <k} nmiRe 9w

PIRNYOD NOWDT? WINO

r=a; (mod m,)

r=aqap (mod myg)

y=3oy =2 (modb),y =1 (mod 3)-v-v 75 y € Z N8N .1.23 N7
190N 2T YTD NI NI NNTIPN NONTA 0 ¥y = 7 PINANY 1Y oy (mod 7)
MNXNWNN DY IR 199 (15 =0 (mod 5) o0 15 =0 (mod 3) ») 3-5 =15 5v
Y =7 (mod 15) nNX MxNwNA 9HNNY M y = 2 (mod 5) ,y = 1 (mod 3)
MY MDA PPN NPINYN LIVYNI YANYND AR 1991 (15,7) = 1 >0 25 oW

QN9 MMM Yy = 52 23 I1PTA MIRNIYN



0”002 DMHAYN DN 2

92D DXPINY PIAONR NN .OPION 0N NN D) NYD ,0NPN DYO DRNNA
DNAY VNNV "O0IWS” NP D3N NND DTN DX DTV NIN IPINYD NI2ONA
M0 PN DIN) ONPN AN .ANAN XN

PN NN S Dy (binary operation) MNM3 aNYS .N¥ap S NN .2.1 AN
wnnW) *(a, b) 0IWIY 0PN TPRN VYNS a,b € S MY *: SXS — S PMPNT
IO NN N2WAN 2D MNI LS-D NIV @ * b ISPNN NINNY 9N .a * b D3

(S, %) I2ON NN NN (semigroup ,N¥NND NNAN IN) DTHX 2.2 NN
IPDVINON) NP NN»PRN S DY NN’ N2 S NP KD NH1IAPN NADINN
(axb)*xc=ax(bxc) o»pm a,b,c € S 939 M5 .(associativity

DTHN NN 90N MNN Oy 07Ya0 01900 v (N, +) noynn .2.3 nnnt

SVUNY TPNDP NPR NONN NOWAY 290 DTINR NPXR (Z, —) NIIWNN 2.4 NNt
(b—=2)—1#5-(2-1)

NN YNNI PONY 20N DTN NN S 0D NN INPY DYDY 2.5 DWW WY
,a - b W ab MNT D90 MO YMDN NOWOIN DAY DIPNI LNPIIONRND NOIWYNN
.a DWW a DNIYI N DY aa...a NY95N DIVID DIPHNI

DPPNN a € .S 939 DN NN IR RIPI € € § IDNR .NTON (S, %) )NN .2.6 1910
axe=exa=a

£ DT AN NV NTHNR NN (M, %, e) (NPT IN ,monoid) PRMY .2.7 79730
SR NN M D NN VIV VPN 0 DN DTN DN NDIEN IWUND

DTN AN 22 ININ e DTN AN Oy PRI (M, %, €) 77 .(INXINID) 2.8 YD
e=ex* f=f 0PI NP DN ON e, f € M OX N TR NN

DN OYP DN IRDVYY POV KA a € M AR PRM (M, *,e) 1 2.9 N1
L@ OW OIRDY DO R b M NIpna ba=e-v 0o be M

.ab = e-v 70 b € M YN 07p DX PO O0N XA a € M DN, T 19N
.4 9% MHDY DD RIP b Mt NIPN2

DOW NP b Mt NAPNa ba = ab = e-v T b € M TN D07 OX O XIP? TN
.a v

TON a-¥ NI P ORNYN TN DN a € M o J(NRNIND) 2.10 9N
SR NN DY DN

29N ¢ O L (ORNYNI TON a 2D D OPP) a DV INWID PONNY DN b O NN
.a OV 09N NIN M IDNRY PPON b = ¢ 2D IR (NMT NPTSN) a DY NI 0
:DNIN ©I2YNN D TR D P>T8NY DYTY ONN D INT

c=exc=(bxa)xc=bx(axc)=bxe=">



D) INDND LMD N DMV @ DY DPONRNYN D?I9NN D) 0PN D»INNN DD 1ID
a1 ymon ,re N NNy

I INY 1D WY 1O IR ONNYN XI) PR TON P NIN IR ORY 2D v
(D00 TN 9)D)) TNR N

AN XN AN 9512w PR XN (G *, e) (group) NMaN .2.11 AYTN

T8 NN NN (G, %) PIOR NOIWNY NOIND TN DY YO NITINN 9
SPON NN DN DOV DTN DN OYPY L TPNIDP NI NNk NN 2D MININD
DTHON <= PRI <= NNIAN :0”PNN 1D MDD

MN N51 .0 NN N DTN YDRY AMAN NN (Z, +) NoIYnn L2.12 At
2190 AN DY TIOONN N 2PN .—a P02 a DY 229NN IDRN NXR NDY DIpn
JN2ND DN T N9DN DY

5w NNN Nows oy (F,+,0) nx (C xR ,Q Sond) nTv F o .2.13 nnnt
n X m 972 MPINN GOIN) (M, (F),+) D) MIT 192 0NN NN NTYVN
LDANN NXIVN NIN DTN DX 0NN RN MPIVN NN NNy oy (F Hyn

TR NN NTYN OV 9950 nows oy (£ ) ndwnn .nTv F o 2,14 Annt
1NN DTN 92N (27790 ND D) NNAN IPNY

oY aman 0 (F* 1) wr JF* = F\ {0} oy T F o 2,15 Dont
0N D) PRI PI NN DNOY D900 SV D)0 Y9dn oy (ZF, 1) noynn NNt
(72 ©9NN OINN

DORMP R NNAND .AMIAN NN NIND N2 TAR TN NOYA NNIAP .2.16 NHNT
JN7RNMIVD N3ND

ORI a, b € M v PR M oy (D900 DINN NNAN) 2.17 DTN
NI 09NN VNN PR LCTNINNA AN NN a - b D) R D90 DN a,b ON
NI NP AN TRIINT DI9NN DIADRA 93 GO PY L(a-b) P =b"1-a™!
LTPON NIN 2 AN DY, NN DR NN 90N DN QOIND 1D mD .A0wad ona
N2Ya0 ONY2 NN INNN TRMIND 029NN DIDNRND GDIRY NN TPTPND MPON

(Units 5v M¥p) U(M)-2 1% 072N 190 .NSININ

MYV Y93 BY 1. X 1 DTN NYWHRN Mo Hv (M, (R), -) noaynn .2.18 H9130
VY D900 NNAND RN NN

U(M,(R)) = GL,(R) = {A € M,(R) : det A # 0}
.(General Linear group) R Syn (n ndynn) 15550 mIxR»SN NNaNN OONNP

PN IN) IR NN k0 G X G — G OMpRTYT N9 00 NN 12,19 910
(G,*%) OR .a*xb =b+*a 0P a,b € G DIVN NV YIY DX (commutative
NIPI IVIND (FPDDN IN) IR N3N NN G D 0N ,NPOAN NN DD NN

.(Niels Henrik Abel) Sax 730 952 5w mv Yy



n> 1 My oax IR (GL,(F),-) nmann .nTv Fon .2.20 ot
JPDAN NMAN NN NDNIN DNVPY NN DO DY TH V o) 2NN .2.21 ANt

DN ,OUnD .99 MY NNYa N2 PTIND IWIN TPAD NIXAP NAY .2.22 WD
Y10 S = {a,b}

x|lalb

a|lala

blb|b

TN N PR OO PR NIPR NN TN TP N9 0D NTRR N (S %) NN
NISDD WPANN M2 bxa = b YaAN ,a*xb = a > MOYN N NNV 2D DWW DT
2101 NMaN DAPNNY NN IPRY PRI YAPpIY 10 S May Y90 mMmd

NTY OW NITHIN DIPRI INDID TPINYD NIONRI 0NPA (1T W OR) 2.23 WD
ANPO 9N PRIV MIATHNN NNYD .MWIT DY NIXR 1w nH9ON (F+, -0, 1)
92N NN NN (F+,0) or nTY N0 F oo Ny FF = F\ {0} o) N
a,b,c € F 999 distributive law) n29n 0 ovpy oo n nnan o0 (£ 1)

La(b+ ¢) = ab + ac o»pmm

INDYN TON IPRY PN TON TN 1A WY TR 0P ON .2.24 9N

X-n mpnynn N¥ap Sy 5oN0y ANap X XN D TN 132 30 NN
AN TR M N300 N9wed orva LXK = {f : X — X} mmonn mnsyd
NN NPNYN NN 12 DTN

PIND) DY NPXPNAN ON PP 090N YNNN NPEPNN ON HNNYN 0229010
FTNYD) 2, Nrnd X NN N2 OX NP2 N L(NTTAN NPVIMOIN MIYOLN NN
X ={1,...,n} or .Sx 0mMom X % MO od mM3n X Np U (XY, o) nmany
MY ONNYN TN DN DD 1PN S, MDA NOY MPIVHION NNAN NN IO D1PN
(oA NY NMan v n >3

ANV TPSPNN YN NIPRY DY NP Nivnd S X = N Sund nipy ON
9aN ,u(n) = n+ 1 5w ,Pn 209N v v 8pNad .d(n) = max(l,n — 1) N
DINDYN TN DD PR

nZ ={0,4+n,£2n, ... }-215% M2950 NX JID) 0DV 190N 157 .2.25 DWW I
A7 ={...,—12,-8,—-4,0,4,8,12,...} Svnd

M Zy, = {[a] : a € Z} ;n 91 m»pwn mponn qoIr Dy HOND) .2.26 NNt

Y200 HNNY PN IWRD [a]+[b] = [a + b] YN 200 TN 1 INTIV D9 NN

NPONN SV 1N NI a) MPPYN MPoNN qQOIX DY NOWION NPINIL N2 NN +

MNDNN NOWH It PR PR (NINKR MDPY NPYNN SV 1N XN -1 INR MYpY
ARNDY a 4 b NaYy MPPYN NPONN Sy DYONDN MINKOY) D901 DY NN

M»PYn MPoNnY oYXy N2 TPYINR 1NN NN (Z,, +) 2D MRID IWIN

[0] + [a] = [0+ a] = [a] >3 [0] 2 AP Y2x Z, = {[0],[1],...,[n—1]}
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MNDNN DY SV NPOINM NPNDPN NYIAN NPOIRM NDWIN NPNDP .([a] 935
[n —a] NN [a] Sv 9N ANRD DN

1] AP 2R DY NPNDP MY M0 MY 2(Z,,-) 22D 1D ) N
an (Z, ) orn Z5 = Z, \ {[0]} y293 2293 PN [0]-5 05 nMan &Y n TN
P9 L[0] € ZF naminn 29 L[2] [3] = [6] = [0] »2 Yapy Z§ May Sund .n1ona RO
ANTHR XY AR m19D) N AR (ZF, )

mMan nn 3

NN MNNN NN O ,ON3IN I N0 H C G nap-nn .nman G onn L3.1 997130
G-n mravinn novad ona

PN {e} < G oM 9N MMIANTIN NV v G NMaAN Y35 3.2 it
G < G ,0RIMI0D N3N HIN

Z 9% MMANNTNN 92 ORY NN VNN .nZ < 7Z ,n € 7 9395 3.3 NNt
nlm oR PN oN mZ < nZ (2>7N2) 3.4 NHNT

DIVNN :Z-21 RO PN Zy, 22 — (Z,4+) 59 nNan NN IPN (Z,,, +) .3.5 nant
D901 DN Z-21 OI2DNRN PN ,MDPY Mponn 0N Z,-2

a0 YR (Zy,, ) 2 = (Zy,,+) 59 1993 nMaN-NN DN U, 3.6 Nt
DMV N2 myan 0o - (M, (R), +) Sv nman-nn nyr (GL, (R),-) .3.7 nont

AN NP N H C G onn (RSN — NNMANTNNY PN 11PI0P) 3.8 2HYV
DNYPNN ONIN DNINN Y OX P OX G v nman-nn H

ece H 1
i -hyt € H 0y ,hi, hy € H 925 2
P DTV F o 3.9 Dan
SL,(F)={AeGL,(F)|detA=1}

IMRNID DNIND 1Y ONNP .NNaNnn N0 SL, (F) < GL, (F) » womn
DT HTHNDD

NMANTNND ANPNN PIVIP WY ORI
det I, =11, € SL,(F)>» 1 .1

JON LAB™' € SL, (F) 9"s \A,B € SL, (F) m» .2

detA 1
AB™') = det Adet B~ = =7 =
det ( ) det A det oL 1
AB™' € SL, (F)
O GL, (F) % nman-nn o0 SL, (F) 2900 910790 295
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499N DMan 4

AR N3N DX DT .1 TN 5950 SV NIPNN DR D8N0 I PTY 4.1 INT
0oyNNa) Zg Y¥ 9950 MO NN M2 5950 nowas 2w U, = U(Z,) nvn (Euler)
:([0] 99512 Y TNV [0]-n

111213145
1111231415
212141024
313(013]03
414121042
5(514(13(2]1

P 1720 220N 199 AN NKIYAN) 1 DMAY YAV 1OXR DN D29NN DXIDNN
Ky Sv onn NN [5] e npna Us = {[1], [5]} M9 .(mMv 97 x mTny

Up = Ziy ™ pNUNT 1900 NN p ON 4.2 WD

, M0 L(nym) =1 oR PN ON [m] € U, IR .m € Z 7 (NIR¥INNN) 4.3 DYV
n-9 ONN OIDND 9 0N (Zy,,-) PRI 09NN

Ui =A{1,5,7,11} .4.4 e
N0 W 10-5 9 70 5 NINR DY, Z1g-2 099D 209N 5-D O”P XD 4.5 NunT

D70 YY 910 AR Y 910 S

I8P NNy Nrnd GO (order) YIOD DX VT .0Man G onn W51 910
JG| o .nMana v 0K N5 NNV INY D903

2955 a = aa...a PIAPNN DPINN DX IO PO9D AMANI 5.2 DWN MY
MPIN N NP5V MPN .na = a + -+ + a D) NN NNIANI .0y n
a’ = e >0 DIDM .a YV IMNN Y NYavn

790NN NN AR W VIOD g € G PR R 0NN (G-, e) NN 5.3 An
g Y% 7TONY DN D 1 PR OX .¢" = e DPPNNIY T NP YOPN n 20N
TN DR NN L1 NN DTN DR OV ATON NNIAN Y2 ,0792 . NOPNR NN
g omyan o(g) = n Y23pn Yo .1 97ON
0(1)=005)=6,003)=2,0(2) =0(4) =3 ,(Zs, +) N"M2AN2 .5.4 NNONT
oM9vNN VR D) Uyg = {1,3,7,9} 22 1ot .(Ujp, ) NM2NN DY H5N0) 5.5 Hnnt
:0(7) M 2wN) .(0N 0V 10-5 oNN
7?=49=9 (mod 10)
=7-7=7-9=63=3 (mod 10)
"=7-7"=7-3=21=1 (mod 10)

12



0(7) =419

R 5yn 2 x 2 510 m>onn mxaonn nNnan - (GLy (R),-) Yy 95n0) 5.6 nnnt

(0 (0 Y- )
NIRRT

0(b) =319

b= < 0 _11> 5 970N DN AYN)

o(a)=o0(a"t) ,a € G 939 N .nMan G NN 5.7 90
:DPN NIYY PONY DNOW
JPUNT a” = e 99 o (a) =n < oo .1 D
e=e¢e" = (a_la)n == (a_l)na" = (a_l)ne = (a_l)n

(ab)™ # 993 19183) DAINNN a1 @-¥ T2 HY DDIAN % T2IYNN TURD
o(ah) <n=o(a) P9 ,(a™H)" = e-v NN (@™

91p) ,al-1 a DX PONI OX VN IPNVN-NR N IND PIN DY
MY W 39 o (a) = o ((a—l)_l) <o(a™t)

JWRAIN NP 099 o(al) < oo nYYwa o o (a) = oo MY .2 DY
0(a™) < 00139 .nPNo WM 0 (a) =o0(a) < oo

[]

NYOPIS MMAN 6

NNANNTNN N @ X Y MSHD ININNNN .a € GO0 ,nNan G NN 6.1 971D
(a) = {d"|k € Z}

An)y ={knlk € Z} = nZ ,n € Z M1y .6.2 Nt

NN G” 20 MM N ,G = (a) OXR .a € G YR NMan G NN .6.3 AN
A2opn) IR N3N G- NP Ya 1T DYy

(NPTND) 191955 NINNY 113 190N 95 1OW 1T Sy NN (Z, +) NN1AND 6.4 ININT
NN XY —1 03 HSYND TR NPND 27N KD NPYOPXN NNAN DY I8P D 20 v 1YY
WA

13



P W (Za,+) DMIANA D IRTN O NN (Zy,, +) = (1) nMann .6.5 NNt
D8P YAIR W (Zgg, +) NNANA 0D IRTN (99D NYAV ST DY NAI) TN INY
YT NpPTa 0Ny ©YNT (3,7) OINRD L(—1 =9 on 1) ©N1a 0T oMY

970 NI DN YV AToN o1 o(a) = [{(a)] R @ € G o 6.6 WD
NP NINY DNIANDTNN

NNIN MDD .AMIAND ATO NIN TPOPY NNANA XY DY ITON 2D 2D MY 6.7 TWHYV
MY L[5 = 2 < 10 = |Zyp| BN DY 970N 00 I8 IR 5 € (Zqg, +) D DYTY
54+5=0 (mod 10)

JPDAN NN DOPN NaN DD L6.8 THYV

9192 = Gog1 "% .91, g2 € G vy .G = (a) >3 M, HPN NMIAN G ONN DN
DYPNNVY NN .ga = a/-) g = a’ DMIAYY 4, j DN»P 1PN i G

— i) — 4 — It T
G192 = a'a’ =a"™ =dT" =d'a’ = gagn

]

Us = {1,3,5,7} 5y 951003 ,5vn5 1Oy NN 1POAN 1NN 9D RO 6.9 NNt
0N 1 OYRY DIDNRN 92) 4 7TON IR NN NNIANA PR 2D ,TPOPIN 1NAN KO n
pT1a - 2 7700

2o C Syn 1 ATON DTN VNV NNAP L6.10 NNt

2
Qn:{Z€C|2”:1}:{cisﬂU{::O,l,...,n—l}
n

2T

0 Q, MY Q, = (w,) 93P W, = cis— WO Or .C* Yv nMan-nn »
n
Wy, YT DY NI DOPIN DNANTNN

JPOPN NN GOV NNMNANTNN 90 IR 0N G ORY INOIN L6.11 THYV

,al ¥ on G-1 oINRD 95 .G = (a) ) .aman nn H < G onn anow
2N NN 0N H-2 0928 D0 0) 1PN

JON LH = (a®) b nx e’ € H ynayw »oynn 1sonn s € N o
DMIAYY 721 ¢ DOPOP ,IPINY DY 71NN Vawn *9Y .af € H ymayw k € N o
Y 0<r<s,k=qs+r

a* = a®t" =a% . a" = (a*)" - a”

5935 M) a” € H 03 199 ,a°,a* € H Yan .a" = d* - (a®)™? ,mInx oo na

059N
W) 0 < r <sona € H - s 5 nooynd npno wp r # 0 BN
O T ,ab € (a®) 199 Lslk oM k= gs 95 . =0 )39 .(r NP2

14



n € NU{0} W3y (nZ,4) vW™I3 W (Z,+) 29 MNP IN .6.12 WP

DN PN ON a” = e 7P .a € G 0 ,nMan G NN (NRYINNN) 6.13 HYD
0(a)|n

d <n 959 o o(a) =n < oo M .a € GO ,nMan G NN .6.14 9N
Y20

(ad) (‘in") = (an)(diin) = e
A € 7,02 NVPIN wyw mcyan)
(d,n)
D 20 aldt B3 nayo cab a® = e s (a)) = e ra mehwrn
n d =1 D) T80 (2T - DNOY DI90N DNNIVY) " | dt

\(dn) (dn)) " T (dn) (d,n)

n
[l APNIY NI ,——— [, PYNID HVIN2 DNOINY 3N 295

(d,n)

o0
Ao Q. = U Q, DTN ()0 ¥ ON) 6.15 3N

n=1
(1N712N NI5N2 XY NI MMAN TINPN) .99 »2)0 NN NN O .1
090 9701 NN Qoe-2 AN DD MWD) 0 () < 00,z € Qy 93D 2
JOPN NN Q.3
IOV N3N DOXNP 9D ITON NI DN DD DAY 1D NNand

RARRD

1025 990 .CF 5 nMan-nn NNY NONY Mt T Dy NMan v non L1
M NIPNaY) NMANTIN NN TPOAN NNAN DY IND ITON DIDND GUIN
20 NN PYTA NN NNV NI L NITHN 29D (D190 NNANTNN XA
12N 199 ,C* Harn NMNANN YV N0 ITON DN
g1, go € VIV NP> RO NN PN LT € Qg 2D M :NITHIN 299 YN 19INA
I,k € Z 7y 2302 .g5 € Q, ,g1 € Q, DMWY M, OO”P PV )
DN

2k 27l

g1 = cis—, go = cis—
m n

15



b
2k 2ml (27Tk 2_7Tl)

g1g2 = cis—— - cis— =cis [ —
m n m n
2m (k [
s (w) ca. ca.
mn

g e, COy DI ,g € £, DX NV ,NNI2 NN 229N MO
YA TINK AN 290 191N ,MNAN NIVIY DY TINRY 12T 0t v ON)
(.NMan NN, mMMan dv

0() <mnm 3P0 € QMY n ovp z € Oy 999 2

Qoo TN .DPN0 D Oy OV NVOPISN MNANNNN OO , 0PN PYoN 2aY .3
AN DNRD MY RONY 1ON» KD 1991, TPADIN

D%y G-21 DADN NI .0 ATON OPN NNaAN G NN LT v ON) 6.16 999N
G NN

AN .G = (a) 2 ) NN

G:<ak><:>0(ak):nﬁmzn@(k‘,n)zl

JUn| M0 G nX 0890 DI2RD 1900 )00

MNAN HY NNV NYeon 7

oW MDaon Y510 ,1an Dnand .NMnYP MMaANN MYTN MNAN DY NN M2
JMan onn any

3 DT NPPOVRNNN O MMan (H,e)- (G, x) Ny»nn 7.1 19N
GxH=A{(g9,h)|ge G,h € H}
MO ,109-2007 G X H Yy nwys T
(g1, 1) ® (g2, h2) = (91 * g2, hy @ hy)
(eg,em) M G x H-2 nron 22 0man o0 (G x H,©) 7.2 ™hyv
0WaN NN 0T Ug X Zs3 Yy 95N0) .7.3 Nnnt

(3,2) ®(5,2) = (3-5,2+2) = (15,4) = (7,1)
(5,1)® (7,2) = (5-7,1+2) = (35,3) = (3,0)

(1,0) NN 99030 YR

16



2(n > 2 NAY) MO Z, X L, ORD 7.4 9390

IR i NP 999 NN (a, b) € Zy, X Zy, AR 93 OV ATONY NN IND WM
(CL, b)n = (CL, b)Q(av b)® : '@(CI,, b) = (CL + -+ a, b +- b) = (naa nb) = (07 0)

m < n 1o L(a,b)™ = (0,0) 1MaYY m OPNN 90NN NN ATONY NP
NP OO0 NN Z,, X Zip-2 9N DD DY 9700 00D

N L|Zy X Zy| = 102 0TTI0 MO IOPN APN RN NNANN D PID) Ny
NMANN P9 MO PR TN .02 9TON VDN N N0 AN Zy, X Z, 0NANND
JPOPN NN

JPOPN NI0N2 NN DYDY MMAN DY NDAONY AN OTIPN 223900 7.5 WD
JPOAN NINYI NPYYAN MNAN DY NYAON ,NNT NNYD

22v3a - DX N0 ,©0-2 G X H Y NYyaN NXR 902 01PN ,»voyn 7.6 DY)
MNNN

(Oon N8P DY) MHVON NMaANn 8

N 72 DNTY IMNVDIDD DHN3ND .8.1 DTN
Sp={c:{1,2,...,n} = {1,2,...,n}|o is bijective}

- MINX YN ,mxyo {1,2,...,n} NNAPIN S Y'NNN MPRYNN 95 GOIN N
NoYan AWND NMan N0 S, {1,2,...,n} 079000 SV ATON MPY DI qOIN
NIPY S, DY AN DD M IONPNS NN DTN AN LNPNPNS NADIN NN

DN

oy X¥ TNmna o900 NMaN prTa NN S, NMANN (19T v OX) 8.2 YN
X ={1,2,...,n} 99N> ,n2590N NNy

0(2) =7 ,0(1) =17 nN¥M NN o € S3 TPR .S3 IR IONTO NP2 8.3 NN
MNYPA YOI D oW i, 5k € {1,2,3} IWN 0 (3) = kA

(12 3
7=\ 5ok

:Sg-:l DINN NX YNNI 2yND)
(123
id = (1 9 3) Bl
1 2 3
T = (2 1 3) 2

17



[\
w
—_

—_
O
w

0T =00T =

el 23y,
.7'0_—7'0'—132.

TR S,-9 TWRN? 99 BY ROV .07 #£ 70 D MR IR S3-v 37 DW) .8.4 WHROY
VIR R RN D 1 > 3 90T IR

Q
no
I
Q
o
Q
I
S~ N N /N
w =
[ )
N W
N~ N
n

w
[\
—_

NI o (1) IR NN AMAVORD 190N OR |S,| = n! N0 3TN0 8.5 DD
Ty L,02WNN 75 n— 1 X0 o (2) N NN IMAIVAND 190N [, TD NN .0
5N TO2 .1DINA ROV PINKD VRN L1 NN 0 (7) NN NN NMMIVARD 190NV

JSul=n-(n—1)---1=nl

S MAONN YV TAN Diyn NINNN NN NN S,-2 ()Y IN) WY .8.6 NN
(DNSYY DNOYI DIADNN INYY) A > Qg —> A3 H> « - > Q) > A (DY D900
(a1 ag ... ag) MONN SV IIWRD (a1 ag ... ag) NP RN NNMNOND DX ©2AMD

Kk Non

1 2345
‘\1 4 3 5 2

) NN DX PN (45 2) mPnn ,S5-1 8.7 nnnT

DOIRNY'I THIDD AWRD DN DINRNY NIDIWD DNDT7 THIN DNWLN 7D .8.8 vovy
IOYPYY IR DHYY DOV GNIYY 10D BR? PRY DIRNY XD "oy

0y DX2WN 122 ,(Z2WNTN) N DY M DAONNN O OINNNY 20 MY .8.9 WD
NSY NNINN DY DX2IWN AUNND INY OOP DINPYD P DINNND

> 123 45 67

4 73 15 26
IMNNN DY MNIAYD OONNM 190N ONPIY DT DINND NDOND NN N3O
DVNO I3 NN

1D :S7-2 INAN NINNN DY 5OND) L8.10 NNt

1l—4—1

DN ,Td ©wNIN Nyd (1 4) MNnn IR 1D P DNNN T DY NNOA TN
INN 190NN
2= T7T—06— 2

,0NNYS OO DIDNN INYY 10 DWI  .NNOA (27 6) MNP DX HAP) N
Y9 ,5 = 5,3 3 MDD
oc=(14)(276)

18



NoWN o2 X9 71729 190N 95 Yy Mayd ;N7 THNN 295 N9 AN .02 NN 2WN)
22P) ,0A5NNN O DIMNNY NP DIAN NN

=((14)(276)>=(1421276>=(267)
20 (o) ym .k TINn mnn o € S, 0 .8.11 9N
() =k»mon .0 =(apay ... ag_1) YOI NN
TIAYD 10 WANND £ IDTI OPTINRN ,20 oY) a’f(ao) = Qi mod k-Y O”PMN
O»PRN a; 939 0 =id »5> M2 wra ({0, 1,...,k — 1} mmoa
0¥ (a;) = o" M aisy) = - = 0 (aim1) = a
DN 92K .TW9rn NS M (o (m) = m ) ¥ (m) = m ,m # a; 999
ol id m9s ol (ag) = a; # ag W I < k
mp‘:rm 9
PN L9 € G930 .nmannn H < G onm ,nan G onn L9.1 D910
.gH = {gh|h € H} C G - ™oV dpmy e
Hg = {hglh € H} - »™p dpny e
G/ H Y293 nVONNYN Mponnn qoN NN
NM2ANN~NN Sy YonoNn ,G = S3 NN NP 9.2 NPT
H={(123))=1{id,(123),(132)}

:G-21 H S5v nvdxnwn mponnn

idH = {id, (123),(132)}
(12)H ={(12),(23),(13)}
(13)H={(13),(12),(23)} = (12)
(23)H={(23),(13),(12)} = (12)H
(123)H ={(123),(132),id} =idH
(132)H={(132),id,(123)} =idH

Ay
Ss/H ={idH,(12)H}

19



:H = 57 5w nvoxnvn mphnnn Yy 9onon G = (Z,+) DX N2 9.3 nnnt
0O+H=H=1{...,,-10,-5,0,510,...}
1+H={.,-9-41,611,...}
2+ H={. 6-8-32712,. ..}
3+H={.,-7,-2,3813,...}

44 H={ . -6,-1,4,914,...}
5+H={..,-500510,15...} =H
6+H=1+H

T+H=2+H

DV ,Z-2 57 5% NYONRNY MpPoNN wnn ¥ 000 T2 LIRS 1)
7/572 ={H,1+ H,2+ H 3+ H, 4+ H}

mpomn LH = (2) = {0,2,4,6} 5y 9onon ,G = (Zg, +) DX NP> .9.4 DNt
N NYORNYN

0+H=H,1+H={1,357,2+H=H

2995 191N

H, ifa=0 (mod 2)
a+ H =
1+ H, ifa=1 (mod2)

G=HU(1+ H)-v 215 oow

(NVPIPN IN) NVPORNYA MPONHNN NNSNIY MNXDNTAN MNXID JNNIY 29D 9.5 DIYD
YT DY MANNN MPONNN P2 JPNYN 0N 70 Oy 0N .G OV gy My H Sv
Dpw o N G-1 DIYDN Y

Nwwn aH = bH mponn ya yyw JH < G nmannm a,b € G May Mmoo
IN2N VOYNN NINYA NN DIDY (OPY b-) a 1av) H Dy md>pvw on

W a, b€ G 3NN H < Goom ,on3n GOon 9.6 voun
a € Hée= aH = H 0191 b~ 'a € H :oX pn OX aH = bH .1
g HNgH =9 W g H = gH 0”pmm ,goH-1 gt H mponn »nv 555 .2
a,b € G Y39 |aH| = |bH| = |H| o7pnn .3

O TIPR NN U gH = G :G 95 20 mponnn 95 Y NN .4
gHeG/H

20



NYRIND PYON DX P NN ATTI NPPONNNN 29N NYYND Nt (7°20) DRW
DTN AN NAY V19 .ah € bH b € H 939 N aH = bH oR (<)
NI5N2 Y ,a = bhg € H W 10 hg € H 0»pw yan RO .a = ae € bH

bla = ho € H
.a=bhg 39 .b7ta = hy-v 15 ,hg € H ovp nx b la € H v oy (=)
ON 9aN .aH C bH Y25 ,ah = bhoh € bH-v 0»pnn h € H 530 ,nny
00 .bH = aH non23y9Y .bH C aH-v 19N MK 9apn b = ah; ! 7X ,a = bhg

nrd {gH : g € G} nYONRYN MPONNA P2 9 YNN NRRNN NRYP 9.7 DI
((Hgr— g 'H)»a5 {Hg: g € G}

gH — (gH) " = {(gh)f1 che H} = {h_lg_1 che H} = {k:g_l ke H} =Hg™!
VNN MPONNN 190N MY NPONNPVYA MPINNN 190N 129

NIPY M N9on LG H] yva G-1 H 5v mponnn 190N NN 1003 .9.8 AN
.G-2 H 5¥ ppIdRd

DPRIY MINONTD 29 DY 9.9 NNt
[Z:5Z] =5 1
(S5 ((123)] =2 .2
[Zs: (2)] =2 .3
|G : H] = co-v 75 ,H < G nMan~nm G NNan IR .9.10 990

H =7 nman-nm G = (Q,+) >nn o
YN DIDRY MPINNA ManN L1 2% 0 P2 OO ag, ap € Q 012w MY NP2
-v Dap) oY

{Oél,:]:1+061, :]:2+041,...}2051H7é0égH:{042, :]:1+062, :]:2+062,...}

,1 925 0 2 Q-2 ©190n0 Moo MNad X0 G-2 H Sv mponnn 1901 )00
JPODPN NNV

|Gl =[G H]-[H| ™ &W3n i H < Gom ,dn3n Goan L(17))) 9.11 0ovy
DNIND 79 ITOD AR PINY ININTAN 7W TTOD ,IHAD IN3N WIY .9.12 WROY

161 _ .
7 =G

AR D Y ON DY L[{a)] < G [{a)| |Gl |a] = [{a)] @ € G W3y 0No3
AlGl = e opnw @ € G997 HINK DIPHI DNIND 2W ITOD IX PINY DNIN3

21



NXIAPIN 0N Zip 2 DIDN DY DPIVIRD DITON | Zy| = 10 M2y .9.13 At
{1,2,5,10}

D»P NI0N2 G MDD NMANN ATO NR PONNN m 190N Y30 ONN .9.14 99N
m 70N TN

Loy X Ly DNAND NN N TPTI DNONT NN XD INMNO
LMD AN O”P PN IR .16 9TON 2N 0”p XD DaANX 16w nMann 1T
o> 1 My 0PN NN Z, X Z, 0NANNY NN DAR ,IPOPN 1MAN 1’ RN

p(n) = |Uyp] 7 Y @ @ N — N AR spno (A9 0avn) 9.15 vowy
a?™ =1 (mod n) o™pnw ,a € U, 95 W3y

©(10) = nx Uyg = {1,3,7,9}-w annn .3 € Uyp 199 ,(3,10) = 1 .9.16 non+
3910 = 3% =81 =1 (mod 10) :07pnn X .|Uy| = 4

PMIVKY P N3Y APIR VOVYD 29 M0N0 PV T L(1DI3 SV JOPN LOYNN) 9.17 VOWUY
aP7t =1 (mod p) Vo3 Ja||(p—1)-w o9 a € U, 959 V% .|U,| =p—1

909121 99011 YV MNINKN MI9DN PNV NN AVN .9.18 99N

5om nN 909 = 9 (mod 100)-v Yo M»pY oM 1N modn ¥ A5 NN
9121 awnd
92100 — 910 — 1 (mod 100) 9N Lawn 8 Sy #x ,(9,100) = 1-v P>
9121 = (910)3.9=13.9=9 (mod 100)-v N

dgl > 1395 e # g € G o 2nwurd p 9TON NN G oNn .9.19 AT
M NN .G = (g)-v MIRY L |g] = p P2 30 g | |G| = p v T30
DTN DN IPRY PIDNRND TAR 92 T DY NN G-Y 903 e # g € G 999 I

OPN NMIANNN W G-9 N .m|n 0 n Ton O G = (@) NN .9.20 WYV
M TON AT

NN NN K >nn .ovp nomn m ATon nman nn v LH = (/™) 1oy andw
K= H axd mpron nnonb LK = (5) o ,m 2700 navn mvpy
(4 — b
18] = ) .14 55n 295135 .5 = a’-v 10 b < n o»p ,G SV I8P a-v INNN
s,t € Z on»p n”onn nnon 0aY (n,b) = 2 95 .m = =< || = m YaN
m (n,b)
9 .(n,b) =sn+th -v 1>

an/m — a(n,b) — asn—i—tb — (an)s(ab)t —1- ﬁt cK

129 L|H| = |K| nmnn o Sy 9an H C K 199 0™ € K-v 1292p 1m9>
Il Vo JH=K

22



ONIV NY)  Z30-2 ¥ NYONIPIV XD MMANTNN 0D L00TH) 9.21 9N
(Zso N1 {0} DX 9910 ND W1

790N NIN MNANNNN 90N ,1PYPN NN I21TI INND 90NN 29 Dy
J{1,2,3,5,6,10,15,30}| = 8 :9mY5 ,30 19000 Sv DPONNN

VY Oy NDIMY L, NYONNIVN MNANNTNNY ORNN 30-) 1 ©ATOM ANND
JONIPI0 XD MMIANTNN

AN NNNPNS 2IWN 10

0OV 1901 YN , M0 ¢ (1) 2N NN NNDN NNSY XA 2XINN PIND TN
A2 DN VONN TIYA VIV OHLPN OIVDNN 19DV NN AVND DO NNWYID

MPN N2921D P N2 OOV I901N DI ,NPPONIPIND DV *TIDN VAYNN 29 DY
MDD (YD ATO MTD TY) DPNYNRI D900 DV

— kl k2 km
n=p; P --Pn

,N129902 1NYDD MYRI 1901 DV NPN DV AN NPNPNAA T2 1NIAN) NYD
:aAvNy Yp oMY

. B 1
o) =p"—p"T=p""p-1)=p" (1—5>

NNYOD 0OV 1901 MY )00

o (n) = (pPp5?...okm) = o (01) 0 (p52) ... o (pfr)

1 1 1
= piipht (1——) (1——)...(1——)
P1 P2 Pk
(D) (2 ) (1)
D1 D2 Dk

em=n (15 (05) - (3)

:p (60) PN 2wN) .10.1 NNPNT

@(60):60-(1—%) (1—%) (1—%>:16

807327671999 4+ 2013 HSv MNINNN MI9DN NV NN 1AVN .10.2 9990

DO,

23



93P mod100 2ya) )W Wno

80732767199 42013 = 67'9% + 13 = 67701 413 = (67*)™ . 67! + 13
= (677099) 6771 413 = (1) - 677" + 13 = 67" + 13

-2 X8 99 100-2 2 67) Uigg NN 67 S¥ 20900 NN XINND NN Nyd
DNXNYND PN NNOND TNND DTOPIN DY DMIMONI wInvd 70 TN (Uigo
67z =1 (mod 100)

100k + 672 = 1-v 10 k € Z ©7p OX P OX IRNYND NINS W

67 5v NP NN ged (100,67) SV MDA KY¥NY DTOPIN DIPINONR NIY3

: 100~
(100,67) = [100 = 1 - 67 + 33]
(67,33) = [67=2-33+ 1]
(33,1) =1

MO, =3P ,1 =67—2-33=—-2-1004+ 3-67 :22p) NNNRS NI
3 NN 67 5v 09NN
16 o0 MNAINKA MI9oN Y M9 671+ 13 =3+ 13 =16 19

& M 7o G N IPOD NMAN G RN INAN NIYLN NN NN .10.3 99N
.2 9701 1R G-1 7P

770 1997 NNANN ITO NXR PONN DR DY ATON /1D VIvN v DY (=)
2% NMIANN

OGN PRY NP5V N2 INNYD 229N KIN - TPTIN ANON 2 ATON TDNY (<)
DTN DRI VI NNYD 22NNV IDN OGN PRY MDD ,2 717010 G-1 DN

YIMNN TDND NN TN DD IYND ,NNRA NNAND DN 9D NN ITOD 117 N
ININ5 NPNDA (-1 DIDN OV I O I9DN DAP) DTN AN OY Ta a0

2 ATOY DMK 7Y HR IR IODY W MR ITIDY DN3NY .10.4 HPOY

DX M1 DY NANNH NMAN-HN 11

20 oY) G-1 DIDN NP XY AP RN S C G onm nMan G onn 111 A9 10
(G 9Y DMan-nn NI5N2 PR S-v

MNON S NN NDINN TPOPNRN NNANHTNN PN S O Y MYHD NN NN
DIDR OV M0 NP NAY LS 0T HY M G-v N X G = (S) on ()
Az, ..., TE) NPPA 2N

N DN TPOPN N NN LIPOPN NN DY NATIND NYDON ANnmn 1 DTN
STAR AR OT DY NN

24



PNPOT YN Ny o H = (2,3) mn {2,3} € Z npr .11.2 At
H =7Z-v

Wom (—2) € Hoynr 2 € H-vw yw> H CZ v Z 5v nnan-nn H
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N9MM 299NN D NPMN YV a0 77T 0 1o AT = {a7tia e A}
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VNN NN . = 53 NN
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(n,e) nHv
DYTIND IN 2V NN OORY m = 65 DyTINN IX NSYY DX 21 oY
MONINN
c=m'"=2790 (mod 3233)
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70N YN W H-a290 a5 ovy H =74 N G = Zy X Zp 9N2) INRD NINO
NN PONN N 4 970N IDNRD YV ToN R L f - G — H ovammivn 0 N 4
NI ND 9270 120 2 X 1 9700 RN 95 G nMana b Mpnn YV 9ToN
JP9MMIDR XD MMIANN 1ON

NPAMMIPN MNIAND 129 ,OIDNN ITO DY MY ODINMIN PODD J19IN2
MY N, MMNMANA DIDNRN T DY MNIYIN

im f N ,79aN G ORY DN .ovamN f - G — H > (10ad) 15.6 YWYV
JYaAN H oxX 99 OX 19an G N ,G = H orv 0N .0vaN

JOPN im f N9 G ORY IO 00N f 1 G — H o 15,7 90

W 390 WY AN & € im f o dm f = (f(a)) 2 v .G = (a) M DMOW
G-v 91 (G 5v mamyar NN NN im f ) f(g) = 2-v 0 g € G TN
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https://github.com/openssl/openssl/blob/master/crypto/bn/bn_prime.c
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